RICKMAN CREEK SANITARY SEWER EXTENSION PROJECT

RECEIVED FEBRUARY 10, 2015

	RECEIVED FEBRUARY 10, 2015 Dodd Construction, Inc. Strickland & Sons Pipeline, Inc. Higgins Construction Strack, Inc.												
										Strack, Inc.			
					appelear Road		Illenwider Road		esville Street	125 Laser Industrial Court Fairburn, GA 30213			
					a, GA 30553		ville, GA 30507		i, GA 30531				
					-356-0708)-535-2246		199-2680	770-969-1591			
ITEM			Est. No.	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL		
NO.	DESCRIPTION		of Units	_	FOR ITEM	PRICE	FOR ITEM	PRICE	FOR ITEM	PRICE	FOR ITEM		
01025.000	VIDEO TAPING THE SEWERLINE ROUTES	LS	1	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00		
02227.000	ROCK REMOVAL BASE COST	CY	500	\$40.00	\$20,000.00	\$40.00	\$20,000.00	\$40.00	\$20,000.00	\$40.00	\$20,000.00		
02227.000	ROCK REMOVAL PREMIUM COST	CY	500	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.01	\$5.00		
02270.000	EROSION CONTROL												
02270.101	SILT FENCE-TYPE C	LF	13,300	\$1.00	\$13,300.00	\$2.50	\$33,250.00	\$2.50	\$33,250.00	\$3.08	\$40,964.00		
02270.102	EXCELSIOR BLANKET	SY	500	\$1.00	\$500.00	\$1.50	\$750.00	\$38.00	\$19,000.00	\$1.72	\$860.00		
02300.000	BORING AND JACKING												
	BORING AND JACKING FOR GRAVITY SEWER LINE-COMPLETE WITH												
	24-INCH STEEL CASING AND 12-INCH DIAMETER DIP CARRIER PIPE,												
02300.101	RESTRAINED JOINTS, ETC.	LF	390	\$350.00	\$136,500.00	\$435.00	\$169,650.00	\$310.00	\$120,900.00	\$364.83	\$142,283.70		
	ADD ON CHARGE-BORING AND JACKING FOR GRAVITY SEWER LINE-												
	THROUGH ROCK WITH 24-INCH STEEL CASING AND 12-INCH DIP												
02300.102	CARRIER PIPE	LF	20	\$20.00	\$400.00	\$400.00	\$8.000.00	\$150.00	\$3.000.00	\$197.12	\$3,942.40		
02601.000	MANHOLES			·	·		· ,	·	` ,				
	STANDARD 4'-0' MANHOLE INCLUDES BASE, CONE, RISER, FRAME												
02601.101	AND COVER COMPLETE, 0'-6' DEPTH	EA	26	\$2,500.00	\$65,000.00	\$1,800.00	\$46,800.00	\$1,750.00	\$45,500.00	\$2,901.65	\$75,442.90		
02601.102	4'-0" MANHOLE ADDITIONAL VERTICAL FEET	VF	220	\$200.00	\$44,000.00	\$135.00	\$29,700.00	\$135.00	\$29,700.00	\$167.22	\$36,788,40		
	6' X 8' RECTANGULAR MANHOLD INCLUDES BASE, CONE, RISER,				, , , , , , , ,	*	, , , , , , , , , , , , , , , , , , , ,	,	* -/	•	, , , , , , , , , , , , , , , , , , ,		
02601.103	FRAME AND COVER COMPLETE, 0'-6' DEPTH	EA	1	\$8.000.00	\$8.000.00	\$2.900.00	\$2,900.00	\$7.000.00	\$7.000.00	\$12,732,96	\$12,732.96		
02601.104	6' X 8' RECTANGULAR MANHOLE ADDITIONAL VERTICAL FEET	VF	2	\$400.00	\$800.00	\$800.00	\$1,600.00	\$1,500.00	\$3,000.00	\$672.43	\$1,344.86		
	METERING MANHOLE A28-COMPLETE INCLUDING MANHOLE, FLUME.				*****	*	, ,	, , , , , , , , , ,	**/***	* -	* /		
02601.105	SOLAR PANEL, FLOW MONITOR, SUNSHADE, ETC.	EA	1	\$8.000.00	\$8.000.00	\$24.500.00	\$24.500.00	\$23.000.00	\$23,000,00	\$26,414,61	\$26,414.61		
02665.000	WATER SERVICE CONNECTIONS			40,000.00	+=,====	- -,	4 = 1,000.00	4 =0,000.00	+				
02665.101	2" WATER METER	EA	1	\$5.000.00	\$5,000.00	\$3,725,00	\$3,725.00	\$4.800.00	\$4.800.00	\$4,745,97	\$4.745.97		
02736.000	SANITARY SEWER			40,000.00	+=,====	40,: =0:00	40 1: = 0:00	¥ 1,000.00	¥ 1,000100	+ 1,1 15151	+ 1,1 15151		
02736.101	10" DIA. SDR 26 PVC 0'-6' CUT	LF	147	\$40.00	\$5.880.00	\$47.00	\$6.909.00	\$54.00	\$7,938.00	\$50.15	\$7,372.05		
02736.102	10" DIA. SDR 26 PVC 6'-8' CUT	LF	127	\$50.00	\$6,350.00	\$49.00	\$6,223.00	\$55.00	\$6,985.00	\$51.75	\$6,572.25		
02736.103	10" DIA. SDR 26 PVC 8'-10' CUT	LF	54	\$50.00	\$2,700.00	\$51.00	\$2,754.00	\$56.00	\$3,024.00	\$53.56	\$2,892.24		
02736.104	10" DIA. SDR 26 PVC 10'-12' CUT	LF	41	\$50.00	\$2,050.00	\$53.00	\$2,173.00	\$58.00	\$2,378.00	\$55.69	\$2,283,29		
02736.105	10" DIA. SDR 26 PVC 12'-14' CUT	LF	48	\$50.00	\$2,400.00	\$55.00	\$2,640.00	\$59.00	\$2,832.00	\$58.21	\$2,794.08		
02736.106	10" DIA. SDR 26 PVC 14'-16' CUT	LF	65	\$50.00	\$3,250.00	\$57.00	\$3,705.00	\$59.00	\$3,835.00	\$61.21	\$3,978.65		
02736.107	10" DIA. SDR 26 PVC 16'-18' CUT	LF	26	\$70.00	\$1,820.00	\$59.00	\$1,534.00	\$62.00	\$1,612.00	\$64.89	\$1,687.14		
02736.108	12" DIA. SDR 26 PVC 8'-10' CUT	LF	21	\$50.00	\$1,050.00	\$55.00	\$1,155.00	\$61.50	\$1,291.50	\$57.54	\$1,208.34		
02736.109	12" DIA. SDR 26 PVC 10'-12' CUT	LF	1,134	\$50.00	\$56,700.00	\$57.00	\$64,638.00	\$66.50	\$75,411.00	\$59.66	\$67,654.44		
02736.110	12" DIA. SDR 26 PVC 12'-14' CUT	LF	1,833	\$70.00	\$128,310.00	\$59.00	\$108,147.00	\$66.50	\$121,894.50	\$62.18	\$113,975.94		
02736.111	12" DIA. SDR 26 PVC14'-16' CUT	LS	1,432	\$50.00	\$71,600.00	\$61.00	\$87,352.00	\$68.50	\$98,092.00	\$65.20	\$93,366.40		
02736.112	12" DIA. SDR 26 PVC 16'18' CUT	LF	76	\$50.00	\$3,800.00	\$68.00	\$5,168.00	\$68.50	\$5,206.00	\$68.90	\$5,236.40		
02736.113	12" DIA. SDR 26 PVC18'-20' CUT	LF	34	\$80.00	\$2,720.00	\$70.00	\$2,380.00	\$73.50	\$2,499.00	\$73.53	\$2,500.02		
02736.114	12" DIA. CLASS 350 DIP 10'-12' CUT	LF	64	\$80.00	\$5,120.00	\$69.00	\$4,416.00	\$84.00	\$5,376.00	\$76.83	\$4,917.12		
02736.115	12" DIA. CLASS 350 DIP 12' -14' CUT	LF	730	\$80.00	\$58,400.00	\$71.00	\$51,830.00	\$85.00	\$62,050.00	\$79.33	\$57,910.90		
02736.116	12" DIA. CLASS 350 DIP 14'-16' CUT	LF	244	\$70.00	\$17,080.00	\$73.00	\$17,812.00	\$87.00	\$21,228.00	\$82.37	\$20,098.28		
02736.117	12" DIA. CLASS 350 DIP 16'-18' CUT	LF	32	\$80.00	\$2,560.00	\$78.00	\$2,496.00	\$87.00	\$2,784.00	\$86.06	\$2,753.92		
	CONNECT TO EXISTING MANHOLE-WITH 12" DIA. SDR 26 PVC,				. ,		. ,		. ,		. ,		
02736.118	COMPLETE-INCLUDING PIPE, CORE, BOOT, ETC.	EA	1	\$400.00	\$400.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$801.75	\$801.75		
02931.000	PERMANENT GRASSING			,	,	, ,	, ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,		,		
	GRASSING, COMPLETE INCLUDNG SEED FERTILIZER, MULCH, LIME,												
02931.101	ETC.	LF	6,110	\$1.00	\$6,110.00	\$1.20	\$7,332.00	\$1.75	\$10,692.50	\$1.63	\$9,959.30		
	TOTAL BASE BID		-,	Ţ .	\$680,300.00	Ţ20	\$722,539.00	Ţ U	\$747,278.50	Ţ o]	\$773,987.31		

RICKMAN CREEK SANITARY SEWER EXTENSION PROJECT

MANDATORY ALTERNATE "A" BID ITEMS

RECEIVED FEBRUARY 10, 2015

MANDATONTAL	ETERNATE A BIDTIENIO	RECEIVED I EDITORICI 10, 2010										
		Dodd Co					Sons Pipeline, Inc.		Construction	Strack, Inc.		
				148 Chap	pelear Road	1551 Ft	ullenwider Road	115 Clarkesville Street		125 Laser Inc	dustrial Court	
				Lavonia,	GA 30553	Gainesville, GA 30507		Cornelia, GA 30531		Fairburn, (GA 30213	
				706-3	56-0708	770-535-2246		706-499-2680		770-96	9-1591	
ITEM			Est. No.	UNIT	UNIT TOTAL		TOTAL	UNIT	TOTAL	UNIT	TOTAL	
NO.	DESCRIPTION	UNIT	of Units	PRICE	FOR ITEM	PRICE	FOR ITEM	PRICE	FOR ITEM	PRICE	FOR ITEM	
01025.000.A	VIDEO TAPING THE SEWERLINE ROUTES	LS	1	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	
02227.000.A	ROCK REMOVAL BASE COST	CY	500	\$40.00	\$20,000.00	\$40.00	\$20,000.00	\$40.00	\$20,000.00	\$40.00	\$20,000.00	
02227.000.A	ROCK REMOVAL PREMIUM COST	CY	500	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.01	\$5.00	
02270.000	EROSION CONTROL				·							
02270.101.A	SILT FENCE-TYPE C	LF	7,390	\$2.00	\$14,780.00	\$2.50	\$18,475.00	\$2.50	\$18,475.00	\$3.08	\$22,761.20	
02270.102.A	EXCELSIOR BLANKET	SY	30	\$3.00	\$90.00	\$1.50	\$45.00	\$50.00	\$1,500.00	\$1.91	\$57.30	
02270.103	SILT FENCE-TYPE A	LF	810	\$2.00	\$1,620.00	\$1.50	\$1,215.00	\$1.50	\$1,215.00	\$1.79	\$1,449.90	
02300.000	BORING AND JACKING			·	, ,		. ,		· ,	·	. ,	
	BORING AND JACKING FOR GRAVITY SEWER LINE-COMPLETE WITH											
	24-INCH STEEL CASING AND 12-INCH DIAMETER DIP CARRIER PIPE,											
02300.101.A	RESTRAINED JOINTS, ETC.	LF	70	\$300.00	\$21,000.00	\$435.00	\$30,450.00	\$320.00	\$22,400.00	\$333.22	\$23,325.40	
	ADD ON CHARGE-BORING AND JACKING FOR GRAVITY SEWER LINE-											
	THROUGH ROCK WITH 24-INCH STEEL CASING AND 12-INCH DIP											
02300.102.A	CARRIER PIPE	LF	20	\$40.00	\$800.00	\$400.00	\$8,000.00	\$150.00	\$3,000.00	\$197.12	\$3,942.40	
02601.000	MANHOLES											
	STANDARD 4'-0' MANHOLE INCLUDES BASE, CONE, RISER, FRAME											
02601.101.A	AND COVER COMPLETE, 0'-6' DEPTH	EA	17	\$2,000.00	\$34,000.00	\$1,800.00	\$30,600.00	\$1,900.00	\$32,300.00	\$2,901.64	\$49,327.88	
02601.102.A	4'-0" MANHOLE ADDITIONAL VERTICAL FEET	VF	93	\$200.00	\$18,600.00	\$135.00	\$12,555.00	\$135.00	\$12,555.00	\$167.23	\$15,552.39	
02736.000	SANITARY SEWER											
02736.108.A	12" DIA. SDR 26 PVC 8'-10' CUT	LF	1,339	\$50.00	\$66,950.00	\$55.00	\$73,645.00	\$64.00	\$85,696.00	\$57.54	\$77,046.06	
02736.109.A	12" DIA. SDR 26 PVC 10'-12' CUT	LF	807	\$50.00	\$40,350.00	\$57.00	\$45,999.00	\$65.00	\$52,455.00	\$59.66	\$48,145.62	
02736.110.A	12" DIA. SDR 26 PVC 12'-14' CUT	LF	363	\$60.00	\$21,780.00	\$59.00	\$21,417.00	\$66.50	\$24,139.50	\$62.18	\$22,571.34	
02736.111.A	12" DIA. SDR 26 PVC14'-16' CUT	LS	154	\$60.00	\$9,240.00	\$61.00	\$9,394.00	\$68.50	\$10,549.00	\$65.20	\$10,040.80	
02736.112.A	12" DIA. SDR 26 PVC 16'-18' CUT	LF	164	\$60.00	\$9,840.00	\$68.00	\$11,152.00	\$70.00	\$11,480.00	\$68.90	\$11,299.60	
02736.113.A	12" DIA. SDR 26 PVC18'-20' CUT	LF	344	\$60.00	\$20,640.00	\$70.00	\$24,080.00	\$85.00	\$29,240.00	\$73.52	\$25,290.88	
02736.115.A	12" DIA. CLASS 350 DIP 12' -14' CUT	LF	126	\$80.00	\$10,080.00	\$71.00	\$8,946.00	\$85.00	\$10,710.00	\$79.33	\$9,995.58	
02736.116.A	12" DIA. CLASS 350 DIP 14'-16' CUT	LF	124	\$80.00	\$9,920.00	\$73.00	\$9,052.00	\$87.00	\$10,788.00	\$82.37	\$10,213.88	
02736.119	12" DIA. SDR 35 PVC 6'-8' CUT	LF	722	\$50.00	\$36,100.00	\$55.00	\$39,710.00	\$47.00	\$33,934.00	\$52.75	\$38,085.50	
02736.120	12" DIA. SDR 26 PVC 20'-22' CUT	LF	114	\$80.00	\$9,120.00	\$75.00	\$8,550.00	\$100.00	\$11,400.00	\$79.46	\$9,058.44	
02736.121	12" DIA. SDR 26 PVC 22'-24' CUT	LF	72	\$80.00	\$5,760.00	\$80.00	\$5,760.00	\$150.00	\$10,800.00	\$87.39	\$6,292.08	
02931.000	PERMANENT GRASSING										_	
	GRASSING, COMPLETE INCLUDNG SEED FERTILIZER, MULCH, LIME,					•						
02931.101.A	ETC.	LF	4,350	\$1.00	\$4,350.00	\$1.20	\$5,220.00	\$1.75	\$7,612.50	\$1.63	\$7,090.50	
					\$355,520.00	•	\$384,765.00	•	\$410,749.00		\$412,051.75	

RICKMAN CREEK SANITARY SEWER EXTENSION PROJECT

MANDATORY ALTERNATE "B" BID ITEMS

RECEIVED FEBRUARY 10, 2015

					onstruction, Inc.		Sons Pipeline, Inc.	Higgins Construction		Strack, Inc.		
				148 Ch	appelear Road	1551 Ful	lenwider Road		esville Street	125 Laser Industrial Court		
				Lavon	ia, GA 30553	Gainesv	ille, GA 30507	Cornelia	, GA 30531	Fairburn, GA 30213 770-969-1591		
				706	3-356-0708	770-	535-2246	706-499-2680				
ITEM			Est. No.	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	
NO.	DESCRIPTION	UNIT	of Units	PRICE	FOR ITEM	PRICE	FOR ITEM	PRICE	FOR ITEM	PRICE	FOR ITEM	
01025.000.B	VIDEO TAPING THE SEWERLINE ROUTES	LS	1	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.0	
02227.000.B	ROCK REMOVAL BASE COST	CY	500	\$40.00	\$20,000.00	\$40.00	\$20,000.00	\$40.00	\$20,000.00	\$40.00	\$20,000.0	
02227.000.B	ROCK REMOVAL PREMIUM COST	CY	500	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.01	\$5.0	
02270.000	EROSION CONTROL											
02270.101.B	SILT FENCE-TYPE C	LF	660	\$2.00	\$1,320.00	\$2.50	\$1,650.00	\$2.50	\$1,650.00	\$3.08	\$2,032.8	
02270.103.B	SILT FENCE-TYPE A	LF	210	\$2.00	\$420.00	\$1.50	\$315.00	\$1.50	\$315.00	\$1.79	\$375.9	
02270.104	CHECK DAMS	EA	1	\$50.00	\$50.00	\$375.00	\$375.00	\$500.00	\$500.00	\$370.61	\$370.6	
02272.000	RIP RAP											
02272.101	RIP RAP-TYPE 3	SY	100	\$50.00	\$5,000.00	\$45.00	\$4,500.00	\$40.00	\$4,000.00	\$37.29	\$3,729.0	
02300.000	BORING AND JACKING											
	BORING AND JACKING FOR GRAVITY SEWER LINE-COMPLETE WITH											
	20-INCH STEEL CASING AND 8-INCH DIAMETER DIP CARRIER PIPE,											
02300.103	RESTRAINED JOINTS, ETC.	LF	200	\$300.00	\$60,000.00	\$400.00	\$80,000.00	\$310.00	\$62,000.00	\$277.25	\$55,450.0	
	ADD ON CHARGE-BORING AND JACKING FOR GRAVITY SEWER LINE-											
	THROUGH ROCK WITH 20-INCH STEEL CASING AND 8-INCH DIP											
02300.104	CARRIER PIPE.	LF	20	\$20.00	\$400.00	\$400.00	\$8,000.00	\$150.00	\$3,000.00	\$197.12	\$3,942.4	
02523.000	GRAVEL DRIVE REPAIR											
02523.101	GRAVEL DRIVE REPAIR	LF	290	\$5.00	\$1,450.00	\$10.00	\$2,900.00	\$12.00	\$3,480.00	\$16.30	\$4,727.0	
02601.000	MANHOLES											
	STANDARD 4'-0' MANHOLE INCLUDES BASE, CONE, RISER, FRAME											
02601.101.B	AND COVER COMPLETE, 0'-6' DEPTH	EA	9	\$2,000.00	\$18,000.00	\$1,800.00	\$16,200.00	\$1,900.00	\$17,100.00	\$2,901.64	\$26,114.7	
02601.102.B	4'-0" MANHOLE ADDITIONAL VERTICAL FEET	VF	27	\$200.00	\$5,400.00	\$135.00	\$3,645.00	\$140.00	\$3,780.00	\$167.23	\$4,515.2	
02736.000	SANITARY SEWER											
02736.122	8" DIA. SDR 26 PVC 0'-6' CUT	LF	120	\$50.00	\$6,000.00	\$45.00	\$5,400.00	\$50.00	\$6,000.00	\$51.63	\$6,195.6	
02736.123	8" DIA. SDR 26 PVC 6'-8' CUT	LF	398	\$50.00	\$19,900.00	\$47.00	\$18,706.00	\$52.00	\$20,696.00	\$53.24	\$21,189.5	
02736.124	8" DIA. SDR 26 PVC 8'-10' CUT	LF	493	\$50.00	\$24,650.00	\$49.00	\$24,157.00	\$54.00	\$26,622.00	\$54.34	\$26,789.6	
02736.125	8" DIA. SDR 26 PVC 10'-12' CUT	LS	13	\$60.00	\$780.00	\$51.00	\$663.00	\$60.00	\$780.00	\$57.24	\$744.1	
02736.126	8" DIA. SDR 26 PVC12'-14' CUT	LF	21	\$60.00	\$1,260.00	\$53.00	\$1,113.00	\$60.00	\$1,260.00	\$59.77	\$1,255.1	
02736.127	8" DIA. SDR 26 PVC14'-16' CUT	LF	19	\$60.00	\$1,140.00	\$55.00	\$1,045.00	\$65.00	\$1,235.00	\$62.83	\$1,193.7	
02736.128	8" DIA. DIP 0'-6' CUT	LF	181	\$40.00	\$7,240.00	\$55.00	\$9,955.00	\$60.00	\$10,860.00	\$63.87	\$11,560.4	
02736.129	8" DIA. DIP 6'-8' CUT	LF	209	\$40.00	\$8,360.00	\$57.00	\$11,913.00	\$62.00	\$12,958.00	\$65.45	\$13,679.0	
02736.130	8" DIA. DIP12'-14' CUT	LF	35	\$50.00	\$1,750.00	\$59.00	\$2,065.00	\$75.00	\$2,625.00	\$71.93	\$2,517.5	
02736.131	8" DIA. DIP 14'-16' CUT	LF	15	\$50.00	\$750.00	\$61.00	\$915.00	\$80.00	\$1,200.00	\$75.01	\$1,125.1	
	CONNECT TO EXISTING MANHOLE-WITH 8" DIA. DIP, COMPLETE-											
02736.132	INCLUDING PIPE, CORE, BOOT, ETC.	EA	1	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$1,100.00	\$1,100.00	\$760.67	\$760.6	
02931.000	PERMANENT GRASSING											
	GRASSING, COMPLETE INCLUDNG SEED FERTILIZER, MULCH, LIME,											
02931.101.B	ETC.	LF	1,710	\$1.00	\$1,710.00	\$1.20	\$2,052.00	\$1.75	\$2,992.50	\$1.63	\$2,787.3	

MANDATORY ALTERNATE "C" BID ITEMS

				Dodd Construction, Inc.		Strickland & Sons Pipeline, Inc.		Higgins Construction		Strack, Inc.	
				148 Chappelear Road		1551 Fullenwider Road		115 Clarkesville Street		125 Laser Ir	dustrial Court
				Lavonia, GA 30553		Gainesville, GA 30507		Cornelia, GA 30531		Fairburn,	GA 30213
				706	706-356-0708		770-535-2246		706-499-2680		69-1591
ITEM			Est. No.	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
NO.	DESCRIPTION	UNIT	of Units	PRICE	FOR ITEM	PRICE	FOR ITEM	PRICE	FOR ITEM	PRICE	FOR ITEM
	NPDES, EROSION, SEDIMENTATION, AND POLLUTION CONTROL										
ATTACHMENT A	PLAN IMPLEMENTATION	LS	1	\$5,000.00	\$5,000.00	\$8,000.00	\$8,000.00	\$12,500.00	\$12,500.00	\$4,444.00	\$4,444.00

RICKMAN CREEK SANITARY SEWER EXTENSION PROJECT

RECEIVED FEBRUARY 10, 2015

	T			RECEIVED FEBRUARY 10, 2015					
					& Construction, Inc.	Anderson Grading & Pipeline, LL			
					8 S.R. 145		I. Broad Street		
				Eastand	ollee, GA 30538	Monro	e, GA 30655		
				706	5-779-0009	770	-385-1018		
ITEM			Est. No.	UNIT	TOTAL	UNIT	TOTAL		
NO.	DESCRIPTION	UNIT	of Units	PRICE	FOR ITEM	PRICE	FOR ITEM		
01025.000	VIDEO TAPING THE SEWERLINE ROUTES	LS	1	\$500.00	\$500.00	\$500.00	\$500.0		
02227.000	ROCK REMOVAL BASE COST	CY	500	\$40.00	\$20,000.00	\$40.00	\$20,000.0		
02227.000	ROCK REMOVAL PREMIUM COST	CY	500	\$75.00	\$37,500.00	\$25.00	\$12,500.0		
02270.000	EROSION CONTROL			·		,	. ,		
02270.101	SILT FENCE-TYPE C	LF	13,300	\$3.64	\$48,412.00	\$3.10	\$41,230.0		
02270.102	EXCELSIOR BLANKET	SY	500	\$5.35	\$2,675.00	\$1.25	\$625.0		
02300.000	BORING AND JACKING			*	¥ ,		\$0.0		
	BORING AND JACKING FOR GRAVITY SEWER LINE-COMPLETE WITH						*		
	24-INCH STEEL CASING AND 12-INCH DIAMETER DIP CARRIER PIPE.								
02300.101	RESTRAINED JOINTS, ETC.	LF	390	\$345.24	\$134,643.60	\$572.00	\$223,080.0		
	ADD ON CHARGE-BORING AND JACKING FOR GRAVITY SEWER LINE-			40 101_1	* · · · · · · · · · · · · · · · · · · ·	¥61.2.00			
	THROUGH ROCK WITH 24-INCH STEEL CASING AND 12-INCH DIP								
02300.102	CARRIER PIPE	LF	20	\$1,295.13	\$25,902.60	\$470.00	\$9,400.0		
02601.000	MANHOLES			ψ.,=σσσ	\$20,002.00	ψ 11 0100	ψο, .σσ.σ		
020011000	STANDARD 4'-0' MANHOLE INCLUDES BASE, CONE, RISER, FRAME								
02601.101	AND COVER COMPLETE, 0'-6' DEPTH	EA	26	\$2,594.79	\$67,464.54	\$2,024.00	\$52,624.0		
02601.102	4'-0" MANHOLE ADDITIONAL VERTICAL FEET	VF	220	\$192.80	\$42.416.00	\$142.00	\$31,240.0		
02001.102	6' X 8' RECTANGULAR MANHOLD INCLUDES BASE, CONE, RISER,			ψ102.00	Ψ12,110.00	Ψ1 12.00	ψο 1,2 10.0		
02601.103	FRAME AND COVER COMPLETE, 0'-6' DEPTH	EA	1	\$6,350.00	\$6,350.00	\$11,500.00	\$11,500.0		
02601.104	6' X 8' RECTANGULAR MANHOLE ADDITIONAL VERTICAL FEET	VF	2	\$517.50	\$1,035.00	\$860.00	\$1,720.0		
02001.101	METERING MANHOLE A28-COMPLETE INCLUDING MANHOLE. FLUME.	٧.	_	ψο 17.00	ψ1,000.00	φοσο.σσ	ψ1,120.0		
02601.105	SOLAR PANEL, FLOW MONITOR, SUNSHADE, ETC.	EA	1	\$26,400.00	\$26,400.00	\$25,000.00	\$25,000.0		
02665.000	WATER SERVICE CONNECTIONS			Ψ20,100.00	Ψ20, 100.00	Ψ20,000.00	Ψ=0,000.0		
02665.101	2" WATER METER	EA	1	\$4,710.00	\$4,710.00	\$5,800.00	\$5,800.0		
02736.000	SANITARY SEWER			ψ.,	ψ.,σσ	φο,σσσισσ	ψο,σσσ.σ		
02736.101	10" DIA. SDR 26 PVC 0'-6' CUT	LF	147	\$59.26	\$8,711.22	\$46.00	\$6,762.0		
02736.102	10" DIA. SDR 26 PVC 6'-8' CUT	LF	127	\$59.26	\$7,526.02	\$46.00	\$5,842.0		
02736.103	10" DIA. SDR 26 PVC 8'-10' CUT	LF	54	\$59.26	\$3,200.04	\$47.00	\$2,538.0		
02736.104	10" DIA. SDR 26 PVC 10'-12' CUT	LF	41	\$59.26	\$2,429.66	\$48.00	\$1,968.0		
02736.105	10" DIA. SDR 26 PVC 12'-14' CUT	LF	48	\$59.26	\$2,844.48	\$49.00	\$2,352.0		
02736.106	10" DIA. SDR 26 PVC 14'-16' CUT	LF	65	\$59.26	\$3,851.90	\$50.00	\$3,250.0		
02736.107	10" DIA. SDR 26 PVC 16'-18' CUT	LF	26	\$59.26	\$1,540.76	\$52.00	\$1,352.0		
02736.108	12" DIA. SDR 26 PVC 8'-10' CUT	LF	21	\$76.75	\$1,611.75	\$50.00	\$1.050.0		
02736.109	12" DIA. SDR 26 PVC 10'-12' CUT	LF	1,134	\$76.75	\$87,034.50	\$51.50	\$58,401.0		
02736.110	12" DIA. SDR 26 PVC 12'-14' CUT	LF	1,833	\$76.75	\$140,682.75	\$52.50	\$96,232.5		
02736.111	12" DIA. SDR 26 PVC14'-16' CUT	LS	1,432	\$76.75	\$109,906.00	\$54.00	\$77,328.0		
02736.112	12" DIA. SDR 26 PVC 16'18' CUT	LF	76	\$76.75	\$5,833.00	\$55.00	\$4,180.0		
02736.113	12" DIA. SDR 26 PVC18'-20' CUT	LF	34	\$76.75	\$2,609.50	\$57.00	\$1,938.0		
02736.114	12" DIA. CLASS 350 DIP 10'-12' CUT	LF	64	\$90.66	\$5,802.24	\$75.00	\$4,800.0		
02736.115	12" DIA. CLASS 350 DIP 12' -14' CUT	LF	730	\$90.66	\$66,181.80	\$76.00	\$55,480.0		
02736.116	12" DIA. CLASS 350 DIP 14'-16' CUT	LF	244	\$90.66	\$22,121.04	\$77.00	\$18,788.0		
02736.117	12" DIA. CLASS 350 DIP 16'-18' CUT	IF	32	\$90.66	\$2,901.12	\$78.00	\$2,496.0		
02.00.117	CONNECT TO EXISTING MANHOLE-WITH 12" DIA. SDR 26 PVC,		02	ψ55.00	ΨΖ,501.12	Ψ10.00	Ψ2,-430.0		
02736.118	COMPLETE-INCLUDING PIPE, CORE, BOOT, ETC.	EA	1	\$3,070.00	\$3,070.00	\$1,730.00	\$1,730.0		
02931.000	PERMANENT GRASSING		'	ψο,στο.σσ	ψο,στο.σσ	ψ1,700.00	ψ1,730.0		
0 <u>-</u> 001.000	GRASSING, COMPLETE INCLUDING SEED FERTILIZER, MULCH, LIME,								
02931.101	ETC.	LF	6,110	\$1.04	\$6,354.40	\$2.00	\$12,220.0		
02001.101	TOTAL BASE BID		0,110	Ψ1.04	\$902,220.92	Ψ2.00	\$793,926.50		

RICKMAN CREEK SANITARY SEWER EXTENSION PROJECT

RECEIVED FEBRUARY 10, 2015

MANDATORY ALTERNATE "A" BID ITEMS

					& Construction, Inc.	Anderson Gra	ding & Pipeline, LLC
				285	8 S.R. 145	134 1/2 N	N. Broad Street
				Eastano	llee, GA 30538	Monro	e, GA 30655
				706	-779-0009	770-	-385-1018
ITEM			Est. No.	UNIT	TOTAL	UNIT	TOTAL
NO.	DESCRIPTION	UNIT	of Units	PRICE	FOR ITEM	PRICE	FOR ITEM
01025.000.A	VIDEO TAPING THE SEWERLINE ROUTES	LS	1	\$500.00	\$500.00	\$500.00	\$500.00
02227.000.A	ROCK REMOVAL BASE COST	CY	500	\$40.00	\$20,000.00	\$40.00	\$20,000.00
02227.000.A	ROCK REMOVAL PREMIUM COST	CY	500	\$75.00	\$37,500.00	\$25.00	\$12,500.00
02270.000	EROSION CONTROL						
02270.101.A	SILT FENCE-TYPE C	LF	7,390	\$3.64	\$26,899.60	\$3.10	\$22,909.00
02270.102.A	EXCELSIOR BLANKET	SY	30	\$5.35	\$160.50	\$1.25	\$37.50
02270.103	SILT FENCE-TYPE A	LF	810	\$1.07	\$866.70	\$2.00	\$1,620.00
02300.000	BORING AND JACKING						
	BORING AND JACKING FOR GRAVITY SEWER LINE-COMPLETE WITH						
I	24-INCH STEEL CASING AND 12-INCH DIAMETER DIP CARRIER PIPE,						
02300.101.A	RESTRAINED JOINTS, ETC.	LF	70	\$345.24	\$24,166.80	\$572.00	\$40,040.00
	ADD ON CHARGE-BORING AND JACKING FOR GRAVITY SEWER LINE-						-
	THROUGH ROCK WITH 24-INCH STEEL CASING AND 12-INCH DIP						
02300.102.A	CARRIER PIPE	LF	20	\$1,295.24	\$25,904.80	\$470.00	\$9,400.00
02601.000	MANHOLES						
	STANDARD 4'-0' MANHOLE INCLUDES BASE, CONE, RISER, FRAME						
02601.101.A	AND COVER COMPLETE, 0'-6' DEPTH	EA	17	\$2,337.50	\$39,737.50	\$2,024.00	\$34,408.00
02601.102.A	4'-0" MANHOLE ADDITIONAL VERTICAL FEET	VF	93	\$153.50	\$14,275.50	\$142.00	\$13,206.00
02736.000	SANITARY SEWER						
02736.108.A	12" DIA. SDR 26 PVC 8'-10' CUT	LF	1,339	\$76.75	\$102,768.25	\$50.00	\$66,950.00
02736.109.A	12" DIA. SDR 26 PVC 10'-12' CUT	LF	807	\$76.75	\$61,937.25	\$52.00	\$41,964.00
02736.110.A	12" DIA. SDR 26 PVC 12'-14' CUT	LF	363	\$76.75	\$27,860.25	\$53.00	\$19,239.00
02736.111.A	12" DIA. SDR 26 PVC14'-16' CUT	LS	154	\$81.75	\$12,589.50	\$54.00	\$8,316.00
02736.112.A	12" DIA. SDR 26 PVC 16'-18' CUT	LF	164	\$101.75	\$16,687.00	\$55.00	\$9,020.00
02736.113.A	12" DIA. SDR 26 PVC18'-20' CUT	LF	344	\$126.75	\$43,602.00	\$57.00	\$19,608.00
02736.115.A	12" DIA. CLASS 350 DIP 12' -14' CUT	LF	126	\$80.66	\$10,163.16	\$76.00	\$9,576.00
02736.116.A	12" DIA. CLASS 350 DIP 14'-16' CUT	LF	124	\$85.66	\$10,621.84	\$77.00	\$9,548.00
02736.119	12" DIA. SDR 35 PVC 6'-8' CUT	LF	722	\$80.66	\$58,236.52	\$48.00	\$34,656.00
02736.120	12" DIA. SDR 26 PVC 20'-22' CUT	LF	114	\$145.66	\$16,605.24	\$58.00	\$6,612.00
02736.121	12" DIA. SDR 26 PVC 22'-24' CUT	LF	72	\$147.45	\$10,616.40	\$59.00	\$4,248.00
02931.000	PERMANENT GRASSING				. ,	,	. ,
	GRASSING, COMPLETE INCLUDNG SEED FERTILIZER, MULCH, LIME,						
02931.101.A	ETC.	LF	4,350	\$1.04	\$4,524.00	\$2.00	\$8,700.00
			, , ,		\$566,222.81		\$393,057.50

RICKMAN CREEK SANITARY SEWER EXTENSION PROJECT

MANDATORY ALTERNATE "B" BID ITEMS

RECEIVED FEBRUARY 10, 2015

					& Construction, Inc.		ng & Pipeline, LLC	
				2858	3 S.R. 145	134 1/2 N. Broad Street		
				Eastanol	lee, GA 30538	Monroe	GA 30655	
				706-	-779-0009	770-3	85-1018	
ITEM			Est. No.	UNIT	TOTAL	UNIT	TOTAL	
NO.	DESCRIPTION	UNIT	of Units	PRICE	FOR ITEM	PRICE	FOR ITEM	
01025.000.B	VIDEO TAPING THE SEWERLINE ROUTES	LS	1	\$500.00	\$500.00	\$500.00	\$500.0	
02227.000.B	ROCK REMOVAL BASE COST	CY	500	\$40.00	\$20,000.00	\$40.00	\$20,000.0	
02227.000.B	ROCK REMOVAL PREMIUM COST	CY	500	\$75.00	\$37,500.00	\$25.00	\$12,500.0	
02270.000	EROSION CONTROL							
02270.101.B	SILT FENCE-TYPE C	LF	660	\$3.64	\$2,402.40	\$3.10	\$2,046.0	
02270.103.B	SILT FENCE-TYPE A	LF	210	\$2.07	\$434.70	\$2.00	\$420.0	
02270.104	CHECK DAMS	EA	1	\$107.00	\$107.00	\$260.00	\$260.0	
02272.000	RIP RAP							
02272.101	RIP RAP-TYPE 3	SY	100	\$48.15	\$4,815.00	\$33.00	\$3,300.0	
02300.000	BORING AND JACKING							
	BORING AND JACKING FOR GRAVITY SEWER LINE-COMPLETE WITH							
	20-INCH STEEL CASING AND 8-INCH DIAMETER DIP CARRIER PIPE,							
02300.103	RESTRAINED JOINTS, ETC.	LF	200	\$337.80	\$67,560.00	\$494.00	\$98,800.0	
	ADD ON CHARGE-BORING AND JACKING FOR GRAVITY SEWER LINE-							
	THROUGH ROCK WITH 20-INCH STEEL CASING AND 8-INCH DIP							
02300.104	CARRIER PIPE.	LF	20	\$1,250.00	\$25,000.00	\$480.00	\$9,600.0	
02523.000	GRAVEL DRIVE REPAIR							
02523.101	GRAVEL DRIVE REPAIR	LF	290	\$10.70	\$3,103.00	\$10.00	\$2,900.0	
02601.000	MANHOLES							
	STANDARD 4'-0' MANHOLE INCLUDES BASE, CONE, RISER, FRAME			4				
02601.101.B	AND COVER COMPLETE, 0'-6' DEPTH	EA	9	\$1,837.50	\$16,537.50	\$2,024.00	\$18,216.0	
02601.102.B	4'-0" MANHOLE ADDITIONAL VERTICAL FEET	VF	27	\$180.25	\$4,866.75	\$142.00	\$3,834.0	
02736.000	SANITARY SEWER							
02736.122	8" DIA. SDR 26 PVC 0'-6' CUT	LF	120	\$46.42	\$5,570.40	\$47.00	\$5,640.0	
02736.123	8" DIA. SDR 26 PVC 6'-8' CUT	LF	398	\$51.42	\$20,465.16	\$47.00	\$18,706.0	
02736.124	8" DIA. SDR 26 PVC 8'-10' CUT	LF	493	\$51.42	\$25,350.06	\$48.00	\$23,664.0	
02736.125	8" DIA. SDR 26 PVC 10'-12' CUT	LS	13	\$56.42	\$733.46	\$49.00	\$637.0	
02736.126	8" DIA. SDR 26 PVC12'-14' CUT	LF	21	\$56.42	\$1,184.82	\$50.00	\$1,050.0	
02736.127	8" DIA. SDR 26 PVC14'-16' CUT	LF	19	\$61.42	\$1,166.98	\$52.00	\$988.0	
02736.128	8" DIA. DIP 0'-6' CUT	LF	181	\$55.68	\$10,078.08	\$60.00	\$10,860.0	
02736.129	8" DIA. DIP 6'-8' CUT	LF	209	\$65.68	\$13,727.12	\$60.00	\$12,540.0	
02736.130	8" DIA. DIP12'-14' CUT	LF	35	\$75.68	\$2,648.80	\$62.00	\$2,170.0	
02736.131	8" DIA. DIP 14'-16' CUT	LF	15	\$75.68	\$1,135.20	\$63.00	\$945.0	
	CONNECT TO EXISTING MANHOLE-WITH 8" DIA. DIP, COMPLETE-		1 . 1				.	
02736.132	INCLUDING PIPE, CORE, BOOT, ETC.	EA	1	\$3,070.00	\$3,070.00	\$1,650.00	\$1,650.0	
02931.000	PERMANENT GRASSING		\vdash					
	GRASSING, COMPLETE INCLUDNG SEED FERTILIZER, MULCH, LIME,		1 1	1				
02931.101.B	ETC.	LF	1,710	\$1.04	\$1,778.40	\$2.00	\$3,420.0	

MANDATORY ALTERNATE "C" BID ITEMS

III) III DALI OILI ALE	TERRATE C BIDTIENIS						
				Cedar Farms	& Construction, Inc.	Anderson Gra	ading & Pipeline, LLC
				285	8 S.R. 145	134 1/2	N. Broad Street
				Eastanollee, GA 30538		Monroe, GA 30655	
				706-779-0009		770-385-1018	
ITEM			Est. No.	UNIT	TOTAL	UNIT	TOTAL
NO.	DESCRIPTION	UNIT	of Units	PRICE	FOR ITEM	PRICE	FOR ITEM
	NPDES, EROSION, SEDIMENTATION, AND POLLUTION CONTROL						
ATTACHMENT A	PLAN IMPLEMENTATION	LS	1	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00

TOTAL BID FOR THE RICKMAN CREEK SANITARY SEWER EXTENSION PROJECT:

I hereby certify this to be a true and accurate tabulation of bids received by the Rabun County Board of Commissioners on February 10th, 2015 at 2:00 p.m.

Zack Bryan, PE

Engineering Management, Inc.

*INCORRECT TOTALS ARE IN BOLD AND ITALICS AND CORRECTED